Efficiency vs Dxy(PV)

SO'O

$018
x
9.016
>
2.014
c
012
=
% 0,01}
0.008
0.006

0.

)5 =20-15-10 -5 0 5 10 15 20 25

TP dxy(PV) (cm)

= “MKFIG_XIMINUS new-Towpt

—e— DQM_mkFit_XiMinusNOPU_NEWdefault_specPLess1
—w— DQM_mkFit_XiMinusNOPU_NEWdefault_specPLess2
—— DQM_mkFit_XiMinusNOPU

NEWdefault_specPLess3

I Efficienc] —— DQM_mkFit_XiMinusNOPU_NEWdefault_specPLess4

o
Iy
T[T [T [T [T [T [T T[T [TTT

0.

9317080604020 02040608 1

TP dxy(PV) (cm)

Efficiency vs Dz(PV)

<003
%.009
hel
9.008
>
2.007
ko
2.006
[
0.005
0.004
0.003
0.002
0.001

-10 0 10 20 30
TP dz(PV) (cm)

<0.05g

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


